Plpamar g BT8R anmgpi 2cad 438 517
- : PR R $4

A (440 £ 1004)

DR R sidon M5

1. 520000000= (1) [E1{E P.21]

2. 0.0000000015= (2) [E1E P.21]

3. 2.4x10° +8.1x10° = (3) [5R7 P.87]

4. % 5.2x10° (LU NE% - I/ NBRETR SR (4) firFgatHEAE 0 Hy8T - [E{F P.21]
54x 10°+2¢ 10°

1.12x 10° ()
6. % 630 ERRA iRt (6) SR A BRI (7) [k P.32]
7.(72-60) = (8) [6R4S P.124]
8. (144 » 12 » 54) (9) [3A4 P.133]
9. ((75125)-15) = (10) [E{E P.38]
10. (2253 T7x11 ~ 29x33x5%x11 ~ 23x3°%53x11) = (11) (SR FR)  [EE P.37]
11. —1% (12) —1% (#> -~ < ~ =) 24 P.136]
12. §+ (-3) = (13) [E/F P4O]

13. 5% A FIEEE > HETA/INS A BVIERES > S5 SEE% > A A fJgE /%D ? (14)

e 1 2 3 4 .
14. 5TEH— + + + = 15 EE P42
ot eyt T (15) _ [EfF PAa2]

15.78 182x252x93 i [R# /(% 115 28%x33xb?x13xC » K a+b+ C= (16)

1.4
14 21
17. 102~ 165~ 594 - 4851 ~ 28160 Pl A {E# & 5 WWREIZHRLME 2 (18) &H 11 R
ERseAE (19) [ZRA P.114]

16. (—2 )+ <—§+2> - an [E{E P.42]

18. #F (4x10°) + (5x10° ) =___ (20) (R seRR) [EE P.27]
19. W15 a~ b &5 84 HYRE (a<b) > Ha+b=20>Ka—b=__ (21) [E1{E P.33]

20. 49 715 fr BEEAN 520 (i L EH - HEICMITREGRwE - SRV BEEIARE KRS - HEHRXL
HEANE S ARy (22) R SBIEA_ (23) A - [FRAPI121]

AR AR BN 1-5~2-3  apEEAER B ERHS




piamae g \PEUE casgsp ey 27
D4R - ok #4Z :

F
'I_“F

|4 S

—5 —3
21 EEBBEEY - ] << IMRERIGT A - o)

22. (BN = b E % K& 7 RIOMRE —R » & 5 RIOMRE —R » =& 10 RERZE —K -
SR 2016 4E 11 H 29 B =4k R Zhim - B N —R =2k FEIR AR R AL A 2017 FERY58 H 26 H?
(25)  [3EA P.133]

3% %)
1. 2. 3. 4.
3) 6 1. 8
9 10 11. 12
13. 14. 15. 16.
17. 18. 19. 20.
21. 22. 23. 24,
29.
- SR GRS A
F i h |

AR AR BN 1-5~2-3  apEEAER B ERHS




